



**Vendor Ranking** 

Page 1 of 1

**Letting:** 01240606 June 06, 2024 11:00 AM **Call Order:** 002 **Contract:** E1X14-R0

District: District 1 Counties: DIST/ST-WIDE, MANATEE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 43272827243 (\*)

Contract Desc: Mowing, Litter Removal, Edging, and Sweeping

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	CROPLAND SERVICES, INC.	Responsive	Winning bid	\$733,606.37	100.00%
2	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$931,708.03	127.00%
3	GROW CARE OUTDOOR SOLUTIONS, LLC	Responsive	Non-Winning Bid	\$964,145.18	131.43%
4	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$1,122,201.46	152.97%
5	M & M CONTRACTORS, INC.	Responsive	Non-Winning Bid	\$1,341,744.28	182.90%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Page 1 of 4

### Florida Department of Transportation



#### **Tabulation of Bids**

Letting: 01240606 June 06, 2024 Call Order: 002 Contract: E1X14-R0

District: District 1 Counties: DIST/ST-WIDE, Fed Aid No: N/A

MANATEE Contract Time: 365 CALENDAR DAYS **Project(s):** 43272827243 (\*)

Contract Descr: Mowing, Litter Removal, Edging, and Sweeping

The work under this Contract consists of mowing, litter removal, edging, and sweeping in Manatee County.

Line No / Item ID Item Description		Alternate	Quantity Units	(1) CROPLAND SERVICES, INC.		(2) SUPERIOR LANDSCAPING & LAWN SE		(3) GROW CARE OUTDOOR SOLUTIONS, LLC	
	•	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(LARGE MACH	IINE MOWING (AC	;				
0005 MOWIN	E107 2 1 IG (LARGE M	ACHINE)	12,661.780 AC	22.00000	278,559.16	24.00000	303,882.72	20.00000	253,235.60
0010 MOWIN	E107 2 2 IG (SLOPE)		676.380 AC	200.00000	135,276.00	128.00000	86,576.64	75.00000	50,728.50
0015 MOWIN	E107 2 3 IG (INTERMEI	DIATE MACHINE	1,257.972 E) AC	60.00000	75,478.32	66.00000	83,026.15	60.00000	75,478.32
0020 MOWIN	E107 2 4 IG (SMALL MA	ACHINE)	474.780 AC	150.00000	71,217.00	66.00000	31,335.48	60.00000	28,486.80
0025 LITTER	E110 30 REMOVAL		16,822.920 AC	7.00000	117,760.44	12.00000	201,875.04	13.00000	218,697.96
0030 EDGIN	E110 32 2 G		3,750.200 MI	14.75000	55,315.45	60.00000	225,012.00	90.00000	337,518.00
	0001 LARG	E MACHINE Se	ection Totals:		\$733,606.37		\$931,708.03		\$964,145.18

**MOWING (AC)** 



06/06/2024

Page 2 of 4

# **Tabulation of Bids**

<b>Letting:</b> 01240606 June 06, 2024		Call Order: 002			Contract:	E1X14-R0		
Line No / Item ID Alternate Quantity Item Description Units		Quantity Units	(1) CROPLAND SERVICES, INC.		(2) SUPERIOR LANDSCAPING & LAWN SE		(3) GROW CARE OUTDOOR SOLUTIONS, LLC	
() indicates item is bid as Lump Sum			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	Contract Grai	nd Totals:		\$733,606.37		\$931,708.03		964,145.18



06/06/2024

# **Tabulation of Bids**

Page 3 of 4

Letting	<b>ງ:</b> 0124	.0606 Jı	une 06, 2024	Cal	Order: 002		Contract:	E1X14-R0	
	No / Item ID Altern Description		ate Quantity Units	(4) T & M LAWN-FENCE SERVICE INC		(5) M & M CONTRACTORS, INC.			
() ind	licates item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 00	001 (	LARGE MACH	IINE MOWING (AC	;				
0005 MOWING	E107 2 1 G (LARGE MACH	IINE)	12,661.780 AC	15.00000	189,926.70	28.00000	354,529.84		
0010 MOWING	E107 2 2 G (SLOPE)		676.380 AC	150.00000	101,457.00	250.00000	169,095.00		
0015 MOWING	E107 2 3 G (INTERMEDIA)	ΓΕ MACHINE	1,257.972 ) AC	80.00000	100,637.76	40.00000	50,318.88		
0020 MOWING	E107 2 4 G (SMALL MACH	INE)	474.780 AC	80.00000	37,982.40	150,00000	71,217.00		
0025 LITTER	E110 30 REMOVAL		16,822.920 AC	30.00000	504,687.60	18.00000	302,812.56		
0030 EDGING	E110 32 2 G		3,750.200 MI	50.00000	187,510.00	105.00000	393,771.00		
	0001 LARGE M MOWI	ACHINE Sec	ction Totals:		\$1,122,201.46 <sup>°</sup>		\$1,341,744 <b>.</b> 28 <sup>°</sup>		

**Contract Grand Totals:** 

\$1,122,201.46

\$1,341,744.28



06/06/2024

#### **Tabulation of Bids**

Page 4 of 4

Letting: 01240606 June 06, 2024

Call Order: 002

Contract: E1X14-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.